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1. ﬂﬁzi=|z+i|,3l'6fz=x+iy,i=‘f—_1,?ﬁ 5. IR A B3 CHR 3% T gy & 3R

2% fagra @ : det(BC) = 2 det(A), A det(2A~1BC) F1 WH F1
(a) T @IS H IW 27
(b) THHMNT Afqwaeal F1 7w @ 16
(¢) Waedl & IW b 8
W W o 4
2. AR 1 +3 45+ T+ ..+ 199 H 24 W @ 2

fawmfra fran sime, d Srewer @1 B 2

(a) 3 6. 3fe el argshm 1 nal 9Q 2n7+5‘3,“°i5“a‘
b 6
YW 140 Ya1 T ANTHS 1 8 ?
¢ 7
(a) 2840
@ 9
(b) 2780
8. Ji2+5i + J12-5; H WA T B, Wl
pi J—'_l 9 (c) 2920
S (d 5700
®b) 25
& 58 7. A ifdw A i 3 # w fowm-anfia s
1 &
@ 5+J2-1

det(4A%) — det(3A3) + det(2A2) — det(A) + det(-I)

1 1 UF 91 & T&l 1 B 3 H qcHHh AR
4. uﬁA=H,?ﬁ det(I + AA") 1 WM 1 8, &l 29

3
1, 3 x 3 %1 dcAHH T8 B ? (). (L=
(@) ‘15 (b) 0
(b) 6 ‘e .4
¢ O
d 2
d -1
DFTK-S-MTH (2-A)
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1. Ifzz=|z+z| wherez=x+iy,i= -1, 5
then the locus of z is a pairof :
(a) straight lines
(b) rectangular hyperbolas
(c) parabolas
(d) circles
2. If1!'+3'+5!+ 7 +..+ 199! is divided by 24,
what is the remainder ?
(a) 3
b 6 B
-
d 9
8. What is the value of f12+5/ + J12-5i,
wherei= -1 ?
(a) 24
(b) 25
© 542
@ 5(v2 -1
1.
1
4. If A=|2|, then what is the value of
3
det(I + AA’), where I is the 3x3 identity
matrix ?
&) 16
(b) 6
&) 0
d -1
DFTK-S-MTH (3-A)

If A, B and C are square matrices of order 3
and det(BC) = 2 det(A),
value of det(2A~1BC) ?

then what is the

(a) 16
(b) 8
() 4
d 2

If the n'® term of a sequence is et , then

what is the sum of its first 140 terms ?

(a) 2840
(b) 2780
() 2920
(d) 5700

Let A be a skew-symmetric matrix of order 3.
What is the value of
det(4A*) — det(3A%) + det(2A2) — det(A) + det(~I)

where I is the identity matrix of order 3 ?

(a -1
(b) 0
) '3
d 2
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o, (A
8. ?T%A:[-s 0 5},?hﬁ1=r%f@a$w:ﬁ
SR LA
¥ ¥ HI-91 U TE R 2
(a) A? UF GHMGG IR R, det(A?) =0 %
oy |
(b) A? UH GHIHG R B, det(A?) =0 %
a1y |
() A? U fawn-aufid ez R, det(A?) = 0
% oy |
d) A? v fawmamfia e R, det(A2) « 0
% |y |
2 00
9. 3R A=|0 3 of @ F=feifiga we=i & @
00 4
A T E 2
1. feet oft garenss quitss 0 & forw, A @y
STHAVI BT |
2. Tl ot garers quifes n & forg, An wde
ue fael srmeg & |
3. fowdt oft vrenes quifes n % fom, AR w2a
U% Tufha TR B |
= feu U e 1 vE W= ad s gh
(a) hael 13K 2
(b) aet 23 3
(¢) %had 13 3
d 1,233
10. AR (a+b), 2b, (b+c) HPH &, df Fr=ffaa
H § B9 U G R 2
(a) a,b3Mc APH &
(b) a—b,h—c@'(c-a,APﬁ%
(¢ a,b3Mec GPH #
(d) a—b,b—caﬂTc—a,GPﬁ'g
DFTK-S-MTH

11.

12.

13.

14.

(4-A)

1
A ST ¢, t, tg .. GPH & | (¢t ... t,)11

e et 2 2
(@) ty9

2

R

() ty

2
(d) t31

ffafgs 4 @ *Fw w - 1 %1 @@
22

(a)

b
+
~.

et
|
-

S

(b)

Pt
+

(c)

I—lﬁr‘

~

(d)

)

10 gei % wioeag fagedt 6t sfean den
fopaet 2 2
(a) 45
(b) 60
() 90

(d 120

U FH=T SH (2n + 1) FSIT & | S H 4096
g § S vas i wgas
n 375949 & | nforas s R 2

(a) 5

(b) 6

{0 I
@ 8
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8. 'IfA=|-3 0 5/, then which one of the
-4 -5 0 :
following statements is correct ?
(a) A? is symmetric matrix with det(A2) = 0.
(b)  A? is symmetric matrix with det(A2) # 0.
(c). A? is skew-symmetric matrix with
det(A?) = 0.
(d) A? is skew-symmetric matrix with
det(A?) # 0.
2 00
9. IfA=|0 3 0, then which of the following
0 0 4
statements are correct ?
1. A" will always be singular for any
positive integer n.
2. A" will always be a diagonal matrix for
any positive integer n.
3. A" will always be a symmetric matrix
for any positive integer n.
Select the correct answer using the code given
below :
(a) 1and 2only
(b) 2and 3only
(¢) 1and 3only
(d 1,2and3
10. If (a + b), 2b, (b + ¢) are in HP, then which
one of the following is correct ?
(a) a,bandcareinAP
(b) a-b,b-cand c-aarein AP
(¢) a,bandcarein GP
(d a-b,b-candc-aarein GP
DFTK-S-MTH (5-

0 3 4

11.

12,

13.

14‘

A)

(a)

1

Let ty, ty, tg ... be in GP. What is (t,t, .. t, )11
equal to ?
(a) tqg
M) e
(© tyy
@

Which one of the following is a square root of
-J-17?

1+

1-i

V2

1+¢

V2

V2

(b)

(c)

(d)

What is the maximum number of points of

intersection of 10 circles ?

(a) 45
(b) 60
() 90
(d) 120

A set S contains (2n + 1) elements. There are
4096 subsets of S which contain at most n

elements. What is n equal to ?

(@ 5
(b) 6
@7
d 8

Downloaded from www.cclchapter.com



15. 32

16. 3 e 3% u anfors & avft sraFd 191 -1
F U &, A gRive & A =R 2 "
(a) HadA 0
(b) U HH HEAT T AGEF &9 & 0 74
(¢) U fowm d@&n
d 0,131 -1
8 w170
17. R A=[-1 3 o}, @ detladj(adjA)] 1|99,
il R |
o R R 2
(a) 5
(b) 25
(¢ 125
d 625
DFTK-S-MTH (6-A)

x24+8x x-1 x+3
x+15&dxix -4
x-3 x+4 3x

=ax? +bx® +cx? +dx + e,

A e T TH T8 ?
(a) -1

(b) 0

8 1

d 2

18. IR A= {

Q-

0 0
1 0],??[23A3—19A2—4A%H?ﬁ
0 1

o

T R ?

Hife 3 1 I AR
Hife 3 1 dEHS AR

(a)
(b)

2 0 0
2 0
00 2

(=]

(c)

d |0

-1
(=]

FIE 3% UH A8 A & GRS &H AH 3 2 |
I C, AYE A % TE UGS B ATHE B, Al

C2 % GRfire %1 U =R 2
(a) 3

(b) 9

(c)y 81

@ 729

qﬁAﬁ[t:; k]iz]’a

det(A,) + det(Ay) + det(Ay) + ... + det(A;qp)
forerh s R 2

(a) 100 '

(b) 1000

(c) 9900

(d) 10000
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x2+3x x-1 x+8
15. If|{ x+1 -2x x-4
x-3 x+4 3x
=ax? +bx® +cex? +dx + e,
then what is the value of e 7
(a) -1
(b) 0
e §
d 2
16. If all elements of a third order determinant
“are equal to 1 or — 1, then the value of the
determinant is :
(a) Oonly
(b) an even number but not necessarily 0
(¢) an odd number
(d 0,1or-1
2 =110
17, KA=|-1 3 0], then what is the value
h O £l
of det[adj(adjA)] ?
(@ 5
(b) 25
() 125
(d 625
DFTK-S-MTH (7-

18.

19.

20.

A)

, then what is

- o O

R
IfA=10 1
00

23A3 — 19A2 — 4A equal to ?

Null matrix of order 3

(a)
(b) Identity matrix of order 3
(2 0 O]
(c) 0 20
0 0 2
(7 0 0]
(d) R )
0 0 7]

The value of the determinant of a matrix A of
order 3 is 3. If C is the matrix of cofactors of
the matrix A, then what is the value of

determinant of C2 ?

(a) 3
b 9
() 81
d) 729

k-1 k :
IfA, = [k—2 k_}_1:|,thenvcrhatm

det(A;) + det(A,) + det(Ag) + .. + det(A o)
equal to ?

(a) 100

(b) 1000

(¢) 9900

(d) 10000
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21. amfhﬂvnAxAﬁ 16 37999 & 5w (0, 2) 3k
a1, 3) & | Frfafea o § ¥ FRgVERA
T RA

1. TY=T AH TG HE GVE R |

2. AxA¥ a7 (3,2)R |

2 e g F W@ = g I ghv
(a) Fad1 |
(b) ¥ad 2
© 13 23
@ J@M1,I¢2
22. WA A=(1,23,..,20). AR AW EEY R
38 YR 9Ronfa & R R = ((x, y) : dx - 3y = 1),
& x, yeA fafafes = d @
FRIVRAE T R A 2
1. R¥ WA (1,4,7,10,13,16) 2 |
2. R WM (1,5,9,13,17) % |
3. R% WH R % WEWA % TR 2 |
2 R Mg 2 F @ = T I I
(a) A 1
(b) e 2
© 132
fd) 23k 3
DFTK-S-MTH (8-

23. Freferiaa soEt W RaEw $if -

3 b
1. fix= 7["' 0<x22 oo afanfig day
a2 <xaN

f % B R |

2 5
2. go= % 0% oy ofonfi ey
3x, 4<x<8

g TF %o 2 |

I HoE § F PAAVREE T R A 2
(a) %aa 1
b) Fad 2
© 13N 23

@ TIAM1,TH2

Frafafigs Fu=t w famm Hifse .

24,

1. A=(AUB)U(A-B)
2. AuB-A=(AuB)

3. B=(AUB)-(A-B)

I HoEl § A P T E 2
(a) ae 13K 2
(b) I 23k 3
() aw 13K 3

@ 1,233

A)
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21. The Cartesian prod,ucg Argé pgs 16 elements
among which are (0, 2) and (1, 3). Which of the

following statements is/are correct ?

31 It is possible to determine set A.

2. Ax A contains theelement (3, 2).

Select the correct answer using the code given
below : DA F

A 8

(a) 1 only T o

(b) 2only o8 e

(¢) Both1and?2 b o

(d) Neither 1 nor 2

« TS

Let A = {1, 2, 3, ..., 20}). Define a relation R
from A to Aby R = {(x, y) : 4x — 3y = 1}, where

x, y € A. Which of the following statements |

is/are correct ?

1. The domain of R is {1, 4, 7, 10, 13, 16).

2. TherangeofRis (1, 5,9, 13, 17).

3. Therange of R is equaj to codomain of R.

Select the correct answer using the code given

below :
(a) 1only
(b) 2only

{g) «.Land 2

(dd 2and3

DFTK-S-MTH

(9-

23. Consider the following statements :. Ty

1. “The relation fdéfined by

f(x):{z ’ gzxfz is a function.
x’ x__..
2. The relgt_iqn g deﬁngdwby
gx) = {g‘ ” g <3 j'; is a function.
X, SXE

Which of the statements given above is/are

correct ?

(a) 1lonly =
(b) 2only

(¢) Both1and2

A

@ Neotthawd noe &

-

Consider the following statements ; . -

24,
. A=(AU B‘)___U (A-B).
2. A U (B__— A} =AU B_)} i
3 .B=AUB-4A-B)
Which - of * the.-statements give_n _above are
correct ?
(a) 1and2only
(b) 2 and 3 only
(¢) 1and3only
(d 1,2and3
A) "l NS
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0
f(y)

W&l fiy) # 0. A& A1) = 0-5,
f(2) + f13) + f(4) + f(5) + f16) T ST B ?

H R AT P,

15
(a) —3'5
17
b el
() 32
29
(c) a
31
d fal
(d) B4
26. 2 cnt[% cos™! EJ foress ST % ?
@ -1
M)A
© 3++5
@ 3-5
27. 3fe sec 1p — cosec 1q = 0, i px0:9> 0; ar
p2+q? I AH FIR ?
(Al
b)) 2
1
(c) E
1
d —
242
DFTK-S-MTH

28.

29.

30.

(10-A)

1+ sin? [cos'{%ﬁ foped e 2 2

(a) —
(b)
() —

d =

‘Tﬁ tan (m cos B) = cot (L sin 0), 0 < B < %;T‘ﬁ

85in2(9+g]wnﬂw%?

(a) 16
) 2
GRS |
1
d -
(d) 5
ﬁtana: l, ginp & —lv;0<oc,B< —T-c—,'d"l
i v10 2
cos(a+2[i3)$1#ﬂw%?
1
(a) —E
1
(b) -—
J2
1
(c) 5
) |
Syl =
(d) 3
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> " f(x) " ; 3
25. A funct tisfies fix-y) = ——,[28. Whatis 1 2| ooa~l| s 1to?
ion satisfie X-y £y 28 atis 1+ sin (cos (Jﬁ)] equa.
where fly)#0. If f(1)=0'5, then what is
25
f12) + f(3) + f14) + (5) + f(6) equal to ? o R
15 8
® s Bl ek
- 17
17 9
- v o2
32 e
29 47
(e — <L
54 @ =5
W it
64

29. Iftan(mcos 0) =cot(nsinB),0<0 < %;then

E what is the value of 8 sin? [9 + {—) ?
26. Whatis 2 mt(% cos™? —;—} equal to ?

(a) 16
(a) -1 (b) 2
b 1 ) 1
© 3++5 P
2
@ 8-+5
1 1 T
30. Iftana=—-, sinf=—;0<a, B< =,
7 b= T ras
27. If sec’!p — cosec1q = 0, where p > 0, q > 0; then what is the value of cos (o + 28) ?
then what is the value of p™2 + q~2 ? s 1
2
(a) 1 ;
b) -—=
b) 2 V2
1 1
o (©) —=
(c) 2 g,
1 1
d —F s
22 s
DFTK-S-MTH (11-A)
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T AT AT 3 (02) TVAT F fore At @
ﬁ'ﬂﬂ'%{’:

FHEH (1-x)* + (5 - x)* = 82 T fa=amr #ifdre |

31. wHtr & arafas qel 1 dew = R 2

(a) O
(b) 2
) 4
(d)

Tifitor & |yt gl B IThe =T R 2

8
32.

(a) .24

(b) 12

() 10

d 6
ST 17 qTE AT (03) TIAT & fory et v
farem #iforo :

AL 23 + 222 +22+1=0 3R
FHIHTOL-IT : 21985 4 2100 4 1 — 0 W fa=aw v |

33. HIHWI.I% gt o1 & 2

2

(a) 1,0 0

-1, m, w?

(b)

(c) o

1,-0,0

—1,—m,—m2

(d)

DFTK-S-MTH

&

84. frafofes # & #Fa @ e w1 q@
27

(a -1

(b)

-0

(c) 2

. 0

d o

85. GHISHWL] 3R w11 % THH qol i T

foreft 2 2
(a 0
() 1
© 2
d 3

T R AT 7 (02) I & forw Ao v
ﬁmaﬁﬁq:

Qﬁﬁﬂmm, (@a+b)x’-(a+b+c)x+k=0
g T man R, Ef a, b, c awafys § |

36. IR k= %,(c#ﬁ).?ﬁmﬂwékma%:

(a) arafas 3 guH

(b) arfas 3R @HE

(c) aredfas Afg 3N Haet afe a>c
d) \ffmy, W arafas T8

A)
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Consider the following for the next two (02)
items that follow :

Consider the equation (1 — x)* + (5 — x)* = 82.

31. What is the number of real roots of the
equation ?
(a 0
(b) 2
© 4
d 8
32. What is the sum of all the roots of the
equation ?
(a) 24
(b) 12
(e 10
d 6

Consider the following for the next three (03)
items that follow :

Consider equation-I : z3 + 222 + 2z + 1 = 0 and

equation-II : z1985 4 7100 , 1 — o,

33. What are the roots of equation-I ?

2

@ 10 0
b)) -1,0,0?
© 1,-0, 0
@ -1,-0,-0?
DFTK-S-MTH (13-

34. Which one of the following is a root of

equation-II ?

(a) -1

(b)

-0

() 2

=

(d)

w

35. What is the number of common roots of

equation-I and equation-II ?

(&) O

) 3
(c)

(d)

Consider the following for the next two (02)
items that follow :

A quadratic equation is given by

(a+b)x®2 —(a+b+c)x +k =0, where a, b, ¢ are

real.

36. Ifk-= g , (¢ # 0), then the roots of the equation

are :

(a) Real and equal

(b) Real and unequal

(¢) Realiffa>c

(d) Complex but not real

A)
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37. AR k=c, @ wfiewr & gt €
b

a+b

a+c
a+b

(a)

b
a+b

a+c
a+b

(b)

c

© a+b

c
a+b

T AT FIE JT (03) TVAT F fore FAetfofaa o
farem #iforo:

T+ i

(1+x)°=1+Tyx+Tox2 + Tgx3 + ...

@ -13KR

n
+ T x".

88. T, +2T, + 3Ty +...+nT, foheeh sua 2 2

(a) O
b 1
¢ 2
(@ n2*1
89, 1-T; + 2Ty - 8Tg + .. + (-1)°nT, Trus
S R 2
(a) O
) ~gr?
(¢) n2™!
d 1
40. T, +Ty+Tg+..+T, ﬁa‘ﬂﬁiiﬂ'ﬁ'{%?
). ™
® -1
(c) zn—l
d) 2"+1
DFTK-S-MTH (14

3T TR AT 3 (02) WAl & ferg Referfea @
ﬁ?ﬂ'ﬁﬁ?:

aH #fife fix) =x% -1 3R goflx) =x — Vx + 1.

41. F=fafea & @ S8 & gx) & forw awfem
AH B ?
(@ Jx+1-¥x+1
(b) Vx+1-Yx+1+1
© VJx+1 +¥x+1
d x+1-Jx+1+1
42. g(15) fopas st 2 2
(a) 1
(b) 2
(c) 3
d 4

AT 3T T T (02) TN F fore FAeferaa @
ﬂ?ﬂﬁﬁ(’:
o= ST s Be f, R-(0) W gfiwifie ? 3k

2f(x) + f{%] =X+ 3.

43. £0-5) forEss sTe B 2
1
s e
g S
2
A
; 3
(e) 1
@ 2
= )
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37. Ifk =c, then the roots of the equation are : Consider the following for the next two (02)
@) a+c b items that follow :
a+b a+b
Let fix)=x2 -1 and gofix)=x— Jx + 1.
) -k, BV b
a+b a+b 41. Which one of the following is a possible
expression for g(x) ?
© land . p
(@ Jx+1-%¥x+1
c
(d) —1and—a+b b)) Vx+1-Yx+1 +1
Consider the following for the next three (03) e mReoeER L
items that follow : @ z+l-ux+is1
Let (1 +x)® =1+ Tyx + Tox? + Tgx® + ... + T, x".
42. What is g(15) equal to ?
38. Whatis T, + 2Ty + 3T3 + ... + nT, equal to ?
(a) =}
(a) < O
b) & 2
)1 ®)
(¢) 20 (€)' - I8
(d n2°-1 @ 4
39. Whatis 1-T, + 2Ty - 3T + ... + (-1)"nT,, | Consider the following for the next two (02)
equal to ? items that follow :
(@ 0 Let a function f be defined on R-{0} and
by * g1 2f(x) + f[l) =x+3.
X
@ -+ n2*1
kd)- 1 43. What is f(0-5) equal to ?
2
40. WhatisT; + Ty + Tg + ... + T, equal to ? s
(a) 2¢ b 2
(b) 3
(b) 2°-1
(e)elal
B gl
@ 2941 w. .
DFTK-S-MTH (15-A)
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nie

(a)

(b)

T I N

(e) i

d 4

an#an#m#a?(oz)yﬁ%ﬁqﬁwﬁﬁﬁw
faram #ifsg: i

x+1 2 3
Th Hod flx)= | 2 x+4 6 | grr gftfyE
3 6 x+9
21
45. I8 o SEAH B :
[ 28
o i L
o 1 (a) S 9 ]
S
b 0,22 | @
(b) 05
o 50 st
g
(c) -0, 3
[ 56]
(d) -0,?-.@[
46. I8 BoH TIHE <Fd9 HH W AT @ :
(a) x'="—'—2§-‘l'{
b)) x=-1W
() x=0W
28
d = —
(d) x_ar
DFTK-S-MTH (16

» |t s aret & (02) et & e Rt w

farem #ifere
femmm 2 f6 4x2 +y2 = 0.
47. y 1 Jferehan 99 w12 ?
3
{3} E
() :i+3
(¢ 4
d 6
48. xy 1 Afehaw o= w1 8 2
9
(a) Z
3
b laesl
(b) 2
4.
(C) 5
2
d il
(d) 3

| et a3 are 3t 02) v & fore Referfaa o

faram #Fifsre:
T B fix) = 1 + sin? x g1 IR B |

49. 39 BT H JHR FT R ?

(a) 1 10;1]

(b) [m,m+1]

) [k-1,mn+1]

@ [m-1,n-1]
50. 39 BolH &1 EdHA T 8 ?

(a) 2n

b)) =

T

(e) E

(d) I8 B FAFEdl 8
= N )
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44, If f is differentiable, then what is f’(0-5) equal
to ?
W
4 47.
2
b =
3
fe). 2
d 4
Consider the following for the next two (02) 48_
items that follow :
A function is defined by
x+1 2 3
fixy=| 2 X+4 6
3 6 x+9
45. The function is decreasing on :
[ 28
Y _, 0
(a) 8 ]
' 381
b 0,—
(b) v
~ EgT
0, —
(c) %3]
g
d 0, —
(d) W
46. The function attains local minimum value at :
50.
) x=-— L
3
() x=-1
) x=0
9 ")
(d x= %
3
DFTK-S-MTH (17=A)

Consider the following for the next two (02)
items that follow :
Given that 4x% +y2 =9,

What is the maximum value of y ?

(a) %
(b) 3
0 4
d 6

What is the maximum value of xy ?

(a) %
b -g-
© %
@ -g-

Consider the following for the next two (02)

 items that follow :

A function is defined by fix) = 7 + sin® x.

49. What is the range of the function ?

(a)
(b)

[0, 1]
[m, m+1]
(© [x-1,m+1]

@ : [r-Lx<1)

What is the period of the function ?

(a) - 2x;
(b). =
™
(c) 'é—
(d) The function is non-periodic
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AT AT A 7 (02) VA F forw At w
ﬁ?ﬂ'ﬁﬁ?:

T TEAT (1, 2) ¥ Bt [T & 3R dehel THIH0!

% = gz, x>0,y >0 % G H@ 2 |
51. 39 Waed H Frar 7= 2 2
(a) y=--;*
(b) y=%
((.:) x=—%
@ x=%
52. 39 WaTd ¥ AEs (Sew taew) H wars 70

22
(a)
(b)

(c)

(d)
T AT T 3 (02) YA & ferv Referfaa v
farem #ifsro: : :
x—1+bx—1

e eifie flx =22

2

|- = =

3t gx)=x-1.

f(x)-1
g(x)

In(ab)
4

In(ab)
2

53. lim

x—1

foraes sua 2 2

(a)

(b)

(c)
(d)

In (ab)
2 In (ab)

DFTK-S-MTH

(18-

g !
54, lim f(x)8® forees sUew 2 ?
A
Jab

ab

2ab
Jab

2 :

HT TR Gt 3 (02) WAl & fore Referfaa ar
farem #ifare:

A ST fix) = 2-x + 2+x.

55. 39 Boid %1 9id #4918 ?
(a) (-2,2)
b [-2,2]
(© R-(-2,2
d R-[-22]

(a)
(b)
(c)

(d)

56. 39 Boid &1 Iftrehan A F1 8 ?
o
J6

V8
4

(a)
(b)
(c)
(d)

AT 3 AT 3 (02) WA & fore Aaferaa v
ﬁ?ﬂ'ﬁﬁ?:

A T fix) = |x| 3N gx) = [x] - 1, & [] FETw
quifeh Her 2 |

7 AT heo = ;ﬁgg ;
57. lim h(x) fopaeh s 2 2
(a) -2
AB) 751
Ae)iic Y
@ 1
A)
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Consider the following for the next two (02)
items that follow :

A parabola passes through (1, 2) and satisfies the

iy_= 2—y,x>0,y>0.
X

X

differential equation

51.

'What is the directrix of the parabola ?
(@) y=- —;—
® y=3
{6) . x=~ —é—
@ x= %
52. What is the length of latug rectum of the
parabola ?
(a 1
® 2
(e i
@ 3

Consider the following for _tké next two (02)

items that follow :
x-1 x-1
Let fix) = % and g(x)=x- 1.
B Whitdin 22 =Lsanie ?
x-»1 gx) ;
In (ab)
(a) )
~ In(ab)
(b) 2
(¢) In(ab)
(d) 2In(ab)
DFTK-S-MTH

1
What is lim f(x)8* equal to ?

x—1
Jab
ab
2ab
Jab

2

(a)
(b)
(c)

(d)

Consider the following for the next two (02)
items that follow :

Let f(x) = ,/2—x + 1}2+x..

55. What is the domain of the function ?
(a) (=2,2)
(b) [-2,2]
(¢ R-(-2,2)
d R-[-22]
56. What is the greatest value of the function ?
@ V3
® 6
© 8
d 4

Consider the following for the next two (02)
items that follow :

Let fix) = |x| and g(x) = [x] — 1, where [] is the
greatest integer function.

f(g(x))

Lt hs) s .
*E @)

57. Whatis lim h(x) equal to ?

x—0+
P
~1

(a)
(b)
e O
d 1

(19-A)
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lim h(x) ﬁiﬂﬁiiﬂ'ﬁ(% ?

x—0-

58.

(a) -2

b)) -1
o) .0

)2

AT AR AT T (02) FEAT & forw At ar
f&maﬁﬁq:

(=]

X -

; Ix_3|+a; x<3
HH ST fix) = { a—b; x=3 3R
x-3
Ix_3|+b, x>38

f(x) §dd BT 18T x = 3 |

59. aFIHHA TR ?

a) -1
b) 1
fe)y"2

d 3

b HH T 2 ?

(a) -1

B 1

ey 2

d 3

DFTK-S-MTH

i S A 7 (02) W % Fry et a
ﬁ'ﬁ?ﬁﬁl’(’:

2n
W?ﬁﬁQ 1= I L

-2r

4 El

X+C0S" X
z X
1+3

61. I (sin*x + cos*x) dx Toreeh T B 7
0

(a)
(b)

(c)
(d)

I foress suat 2 2

0
3n

4
3n

2

62.
(a)
(b)

(c)

(d)

T AT AT 7 (02) T ¥ e At w
faﬂ'ﬂﬁﬁf(’:

m?ﬁﬁmtx}:{

3n

Xt
HEx <2

ax(x+1)+b,
x-1,

I e fix), x = 1 W FGHaANT B, @ (a + b)
T HE =18 2

630

(a)

Co |

b -1

{c) 0

(20 -

@ 1

A)
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58. Whatis lim h(x) equal to ?
x—0-

(a) -2
(b) -1
) O
d 2

Consider the following for the next two (02)

items that follow :
L +a; x<3
|x -3
Letfix)=<{ a-b; x=3 and
g +b; x>3
|x -3

fx) be continuous at x = 3.

59. What is the value of a ?
(a -1
(b) 1
(© 2
d 3
60. What is the value of b ?
(a) -1
() 1
() 2
d 3
DFTK-S-MTH

Consider the following for the next two (02)
items that follow :

2n
4

4
fat Le j‘ sin® x+cos"x .
1+3%
-2n

b4
61. What is I (sin*x + cos*x) dx equal to ?
0
3n
(a) ?
3n
b Ll
(b) 1
3n
(c) ?
d 3n
62. WhatisIequal to?
(a) 0
3n
b ]
(b) .
3n
(C) —2-‘
(d) 3=

Consider the following for the next two (02)

items that follow :

Lot i {ax (x+1)+b,
x-—1,

63. If the function f(x) is differentiable at x = 1,
then what is the value of (a + b ) ?

1

(a) 3

b) -1
(¢) O

d 1

(21-A)
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64.

65.

67.

DFTK-S-MTH

lim f(x) foFEs TusR 2 2
x—0

1
(a) = §

2
b el
(b) 3
(C) 0
(d) 1

IR fix) = |In|x|| T& 0 < x < 1, @ £(05)
fopees s 2 2

(a)
(b)

-2
-1
© O
@ 2

Ife £(x) = cos (In x) 3 y = f(zx_sJ,?h dy
X dx
e st 2 2

(a) cos(ln(zx_al]
X
3 { (2}(—3)]
- —5 sin In
X X
(c) %cos[ln(zx_sn
X X
3 2x -3
——2-cos(ln( J]
X X

| sin x| dx foroeh s 8 2

(b)

(d)

(a)F<2 2
(b) 4
c) -8
(d 16

68.

69.

70.

(22-A)

x € [-1, 1] % fW, 9% fix) = x| x| @ x-7% A

foR &3 &1 Se 1 B 2
(a) %
(b) %
© i
() %

3. \2 4
a:ramwﬁeﬁmxz[d—’l] +(j—y} +sinx =0
X

dx3
&1 Hife 3R uTa sHEe: F91 8 2
(a) 3,4
(b) 1,4
&) 2
d 3,2

y? = 4a(x - b) ¥R % @ft aerli w1 Fah
GHeRToT & B 2

(a)

d’y  o(dy)?
(b} @ + X (E) =0
o y2 dx? i [& oy
d s | =
(d) ydx2 + (dx
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64. Whatis lim f(x) equal to ?
x—0

i
(a) T §
2
| R
(b) 3
(¢ O
fd) 1
65. Iffix) = |In|x|| where 0 < x < 1, then
f’(0-5) equal to ?
(a) -2
(b) -1
(c)= @
a 2
66. If f'x) = cos(n x) and y = f(z"‘:;
sy
what is — equal to ?
(a) cos [!n( 3 3]]
X
® - %sm(zn(z"‘3n
X X
(c) %cos[fn(zx_a]]
b 4 X
d - %cos(!n(zx_:;])
X X
8n
67. Whatis I |sin x|dx equal to ?
0
() 2
(b) 4
(e): 8
(d 16
DFTK-S-MTH

68.

what is

], then

70.

(23-A)

What is the area between the curve

fix) = x|x| and x-axis forx e [-1,1] ?

(a) %
(b) %
© i
@ %

What are the order and the degree

respectively of the differential equation
2
3 4
x2 dy + (d_y] +sinx=07?
dx3 dx
(a) 3,4
(b)y' 1,4
(c) - 2,2
What is the differential equation of all

parabolas of the type y? =4a (x —b) ?

(a) % + (jx—yf =0

o sy
(c) f% + [d—i]z =0
@ sZhe() -0
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T AT qT 3V (02) VA & ferv FAeferiaa oy
ﬁmaﬁﬁm

o AR a,, ay, a5... 39 THRAPH E fh

a; +ag + ajg + a5 + agg + ags + agg + agy = 300.

71. a; + ag — ajg — a15 — 899 — ag5 + gy + Agy
foperh st 2 2
(a O
(b) 25
() 125
(d 250
34
2. Y a, fEEE SR
n=1
(a) 900
(b) 1025
(¢) 1200
(d) 1275

AT 3R aTet 3 (02) Tl & forw Refoiaa @
ﬁwaﬁﬁm

qH Fﬁﬁm p = cos (E)cos(gﬁ) 3R

5 5

q=cos| — |cos| — |.
5 5

78. p+qHI UE FT1 2 ?
1
(B) - E
1
Rt
(b) 1
¢ 0
1
4. =
(d) 5
DFTK-S-MTH (S8

74. pqHI HE F R ?
1
(a) '—'i'é
i
4
1
(C) Z
1
=
(d) 16

AT T aret 31 (02) TVl & fere Rt @
ﬁ?ﬂdﬁﬁ?:

m?ﬁﬁﬁp

tan 3x
tanx

:
3

q=1—3tan2x, O<x<m, x:eg.

75. pq foreeh SR R 2

(@) ol
(b)

(c)

wloo W

(d)

| oo

76. x¥ fFad 7 & R i I A R 2

(a) Tt am & foru =&
(b) Fadt TH AH & forg
(¢ aa q AH & fog
(d) Had d= JH » forg

A)
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Consider the following for the next two (02)
items that follow :

Let a,, ag, ag ... be in AP such that

a; +ag + ayg + ay5 + ag( + Ags + agq + agy = 300.

71. Whatis
) Fifs = Byy o Al Wy e Dt By + Asy
equal to ?
(a) O
(b) 25
(0 125
(d 250
34
72. Whatis z a_ equalto?
n=1
(a) 900
(b) 1025
() 1200
(d) 1275

Consider the following for the next two (02)

items that follow :

Let p = cos [%] cos [%E] and q = cos(%]cos (%]

73. What is the value of p + q ?
1
{a) = E
& 2
4
ey 0
1
d £l
(d) 3
DFTK-S-MTH

74. What is the value of pq ?
(a) - %
® -7
© 3
@ =

Consider the following for the next two (02)

items that follow :
Lt i l _ tan 3x
3 tanx

q=1—3tan2x,0<x<n,x¢ %

75. What is pq equal to ?
80,3
(b) 2
© 3
@ -3

76. For how many values of x does i become
P

zero ?

No value

(a)
(b)

Only one value

(¢c)  Only two values

(d) Only three values

(25-A)
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AT TR AT F(02) WAT & fore Rt v
ﬁ?ﬁ'%’l{:

q‘ﬁ?ﬂﬁl‘l‘;sinx+siny= V3 (cos y — cos x);

x+y—E 0<x,y< ~
2’ » Y 3"

717. sin3x+sin3y$fq'F{WT'3?

(a) -1
(b) O
() S |
d 3

78.". cosax+c053y‘°Fin[7ﬂT%?

3V3
(a) e
3J6
L ——
8
3J6
(e) n
@ 1

ST TR qTA @ (02) T & forg RfenaT o
farame #iforo:
& YT ABC S HIT A, B 3 C HAM: 3:5:4 &
FqEE d # |

79. a+b+ J2c & AH fHus SUET R 2

81.

82,

84.
(a) 3a
(b) 2b
(¢ 3b
d 2
80. 32:b2:c2ﬁv‘€f3r:[':l'l?fﬁ'g?
(a) 2:2+ 43 :3
M) 2:2-V8:2
© 2:2+3:2
@ 2:2-43:3
DFTK-S-MTH (26-A)

Dowploaded from www.cclchapter.com

WEed y? = dbx H Fgar & wiew =0 R,
FE b<0FM b2+b-2=0?

(a) x+1=0

(b) x-2=0

(e) x—~1=0

d x+2=0

fag (—a,-b), (0,0), (a,b) 3N (a2, ab):
(a) U & ga W feva &
(b) T & % wfid-fog &

(0 TS guik wqds ot fb =t & B, &
fg-fag &

d wWEd

fem man @ 5 16p% + 492 - 412 - 56pq = 0.
frafafga & @ 991 &, wa W@l % gu
(px+qy+r)(px+qy—r)=0q'{®ﬂﬁ§%?

f
i g
- [2]

7
b 2, ——
& (2 -1

(¢) 4,-7
(d)< 44,7

G g x> + y2 - 25 = 0 I TH &1 H
Hrﬁmsx+y-5=oi,?hsﬂm%m-ﬁg%
fewes = & 2

-, 15 |
(a) [:1—’ z)
(b) (E, 1]
2 2
SR K
(c) (Z,—IJ
o vl
@’ (Bl



Consider the following for the next two (02)
items that follow :

Let sinx + siny = J/3(cosy — cosx); X + y = g,

n
0<x, —.
<X,y< 3
77. What is a value of sin 3x + sin 3y ?
(a) -1
(b) O
A |
d 3
78. What is a value of cos® x + cos® y ?
3V3
(a) T
3J6
b v
(b) 3
3J6
(c) T
d 1

Consider the following for the next two (02)
items that follow :

The angles A, B and C of a triangle ABC are in the
ratio3d : 5: 4.

79. What is the value of a +b + V2 ¢ equal to ?

84.
(a) 3a
(b) 2b
(e 38b
(d 2
80. What is the ratio of a% : b? : ¢2 ?
W 2:2+ /3 8
(b) 2:2-43:2
© 2:2+43:2
@ 2:2-43:3
DFTK-S-MTH (27-A)

81.

82,

What is the equation of directrix of parabola
y2 = 4bx, whereb<0andb® +b-2=07?

(a) x+1=0
(b) x-2=0
(¢ x-1=0
d x+2=0

The points (- a, — b), (0, 0), (a, b) and (a2, ab)
are :

(a) lying on the same circle

(b)  vertices of a square

(c) vertices of a parallelogram that is not a
square

(d) collinear

Given that 16p% + 49q> - 4r? - 56pq = 0.
Which one of the following is a point on a pair
of straight lines (px + qy + 1) (px +qy —1)=0?

7
2, —
(a) ( 2)

7
(b) [2, - E)
© 4,-7
d 4,7

If 3x + y — 5 = 0 is the equation of a chord of
the circle x2 + y2 — 25 = 0, then what are the
coordinates of the mid-point of the chord ?

e |
(b) (E' E)

3 i b
W [z"ﬂ

3 1
(d) [E,*E)

Downloaded from www.cclchapter.com



oo e e e
frfafas w famm $if
1. ¥ gt ddfad # Frefya #a 2 af
k=19.
2. I8 gHiww Afdwaer w el s 2
g k=12.
3. & il gu &I fefa w@ @ ok
k = 20.
39wl § A fop wdt & 2
(a) HaA TH
(b) Had
() &t
@ g ot 7
%. dfmwem X Vo1 % wat
Frafafea womi w famm i
1. QH %d 0F A § |
2. Jcehgdl sec 07 |
3. R BiwE % ffa Fi gt 2396 R |
394 Hedl § A fored wd 2
(a) FaA TH
(b) Fad q
(c) & dH
(d) i oft TE
DFTK-S-MTH

2 2
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(28-A)

87. T 4x® + 4y? — dax — day + a® = 0 b HeW A

frafefga sui w famm i -

1. ¥ g9 qH1 38T 1 w9l w2 |

2. 39 9 B AW 2a® |

3. TWHIMH g Wix+y=aWRER |
I HoAl ¥ e |t & 2

(a) had Th

(b) Haet qr

(c) uft &=

@) i3 off T

k% fo 7l & form T

k-3)x-5-k%)y+k?2-Tk+6=0,
i’@'[x+y=1aim'iﬁ'{%?

@ -1,1
(b) -1,2
(c) H =2
d 2,-2

89. Wix+y-=4 P(-1,1) 3R Q5, 7) F srex

areft @1 1 R W Fedl 8 | PR : RQ Frus
O R ?
(a):
(R) =2
(eys 82
(d)y' 1:8

. U UHl W1 % @S w1 IThet 997 & Frmeh

frdnefog & o gt 4 39 & 3R stfireis
%-waﬁwmﬁm%mwowaﬁmm
?

(a) 8

(b) 446

¢ 86

(d 16



85. Consider the following in respect of the
X2 y2
equation + e 2
24-k k-16
i 14 The eqﬁation represents an ellipse if
k= 19.
2.  The equation represents a hyperbola if
k=12
3. The equation represents a circle if
k= 20.
How many of the statements given above are
-correct ?
(a) Only one
(b) Only two
(c) All three
(d) None
86. Consider the following statements in respect
2 2
of hyperbola x2 - y2 =1:
cos“ 0 sin“0
1.  The two foci are independent of 0.
2. The eccentricity is sec 0.
3. The distance between the two foci is
2 units,
How many of the statements given above are
correct ?
(a) Onlyone
(b)  Only two
(¢) All three
(d) None
DFTK-S-MTH

87.

89.

(29-A)

Consider the following in respect of the circle

4x2 +4y2 —4531.:;—43.y+a2 =

1.  The circle touches both the axes.

2. The diameter of the circle is 2a.

3.  The centre of the circle lies on the line
X+y=a.

How many of the statements given above are

correct ?

(a) Only one

(b)  Only two

(¢)  All three

(d) None

For what wvalues of k is the line

(k-3)x—-(5-k2)y + k2 — Tk + 6 = 0 parallel
tothelinex+y=17?

@ -1,1
(b) -1,2
(&) =g
d 2,-2

The line x + y = 4 cuts the line joining P(-1, 1)
and Q(5, 7) at R. What is PR : RQ equal to ?

(a1
(b)
(c)
(d)

bo

2
=1
3

=

What is the sum of the intercepts of the line
whose perpendicular distance from origin is
4 units and the angle which the normal makes
with positive direction of x-axis is 15° ?

ta) - 8

b) 46
() 86
@ 16
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A A A A A A
91. HfEW 2i +3j -2k WHRW i +2j +3k |94, wRwW 60i +3j, 40i —-8] 3 i - 52

T&Y HI TS R 2 g §af: .
(a) Ak (a) PB=20
17 '
(b) B=40
2
(b) F \ () PB=-40
@ PB=26
(c) %
) 95. aﬁaﬁ?_=(o,1,1)aﬁt?=(1,o,1)%u=iaﬁﬁ
= frafafeas w famm $ifsw ;
1 e ERW S @ ¥R b 2 W e E,
- & G A T # |
92. IR (2 xb )2 +(a .b)?=1443K
i 2. TElM FdTH B =~ B |
| |=4,d |2 | ST HA TR 2 $ ;
I oAl § A PA-AVRED TE 2 2
o e (a) ad 1
b 4 (b) Had 2
) 5 (¢) 13 23t
d 6 d TALIE2

96. U W@l L2 o G oqua <3,-2,6>%
93. IR TRW = o b F fw =B oW AT, -1, 1) B TRA R | LT HA
R B T, D o0, W ek @] e @ feww @ E KR, -1, DA 90

HH-H1 TF TE B ? ’ &

11 13 19 i 48

(8 0<6<nm - (“7’7'7]3‘*(5'?6]
r 1910 18 o (s 18 8
Moag o (7 __;,7]311{( R 7]

© 0<o<™ © (E E,E)aﬁ;(_l _E,E)

2 R B 7777
(d) 0<9<§ )" [E,_E,E)aﬂ((l,_ﬁ,_éJ

: CEdEE i, AR A

DFTK-S-MTH (30-A)

Downloaded from www.cclchapter.com



91.

DFTK-S-MTH

What is the length of projection of the vector
A A A A A A
i +2j +3konthevector2i +3j -2k ?

(a)
(b)
(c)

(d)

fle 5o gl 5~

(2 xb)2+(a .b)2=144and | b | =4,
then what is the value of | a | ?

(a) 3

(b) 4

(e 5

d 6

. - g
If 6 is the angle between vectors a and b
_’
such that E) . b 20, then which one of the

following is correct ?

(a 0<06<nm

(b)
(c)

(d)

L =~

94.

95.

(31-A)

A A A A
The vectors 60i +3j, 40i -8 and

A A
Bi —52j are collinear if :

(a) PB=20
(b) P=40
() P=-40
d PB=26

Consider the following in respect of the vectors
_)
2 =(0,1,Dand b =(1,0,1):

7 The number of . ukif vectors
_’
perpendicular to both E) and b is only
one.,

2.  The angle between the vectors is g- :

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1and2

(d) Neither 1 nor 2

If L is the line with direction ratios

<3,-2, 6> and passing through (1,-1, 1),
then what are the coordinates of the points on
L whose distance from (1, — 1, 1) is 2 units ?

11-:48: 19 1. 35
(a) T e S e e Wpwof e
i e el ol
189:==11 13 1. 3858
b =’ et d P
s (7' 7 7] [ g 7J
13 11 19 175 0%h
T e e d =TT
- [7 7 7) [ 777 7)
18: <1119 i B e
UG PRl JTWRT SR
g (7’ T 7) (7 7 7)
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97. Yar X=2 _ Y-8 _ z-4 3 g gdqa|101. 10 3 20 F & o wEwmed F fmer % A
3

T A 8 ? 2 ; ;W%?;qglqﬁ(p—qP:lOOOO,Fﬁnﬁ
(a) 2x+2y+z-1=0 EaT s
b)) 2x-y-2z+5=0 o L
() 2x+2y-2z+1=0 o
d x-2y+z-1=0 g

98. W3 2x =3y =-2z 3N 6x=—y=—4z & d19|102. I 10 V&M x;, Xy, ..., X1 BT TA X =20 3;

T BV FIT R 2 .o e
@ Z [3:;1 ] 1 HE L 2
5
@) o o)
®) 30° @ 0
© 60° ®) 12
(d) 90° © 112

d 1012
99. T MW H WHEW FT B A A
<2 +y? 422 _ 2x — By — 82— 5 = 0 g 2[108. A 10 N0 1 WreA AR 1 ATHA FHHN:

3 fdwraer-fog & et ot 2 2 40 3R 16160 B, A W foraer w1 8 2
(@ x2+y2+22-2x-82=0 (a) 16
b x2+y2+22-2x—6y=0 (b) 6
(© x2+y2+22-6y-82=0 {c) - ib
d 4

d x2+y2+22-2x-6y-82=0

104, @ qrEl I HHT AT B | VET IR A i
100. famgati A1, 2, 3) 3R B(2, 10, 1) H! Jred aTed! w1 ST & S O gl @ 2

W R g PR | IRk Pwr w78, @ 2t
TG% 3= A PSR 1 ATEe T R 2 @ 708
5
(a} = 15 (h) IO—B'
& ~33 19
() ——
0 =11 108
23
d -9 (d) 108
DFTK-S-MTH (32-A)
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97.

100.

DFTK-S-MTH

Which one of the planes is:parallel to the line
x-2 y-3 z-4'
3 1 5

?

(a) 2x+2y+z-1=0

(b) 2x-y-2z+5=0
(©) 2x+2y-2z+1=0

d =x-2y+z-1=0

What
2x=3y=-zand6x=-y=-4z7?

is the angle between the lines

(&F = 02
(b) 30°
(¢) 60°

(d) 90°

What

sphere

the

concentric

equation of  the
with  the
x2 + y2 + 2% — 2x - By — 82 — 5 = 0 and which

passes through the origin ?

is

sphere

(@ x2+y2+22-2x-82=0

(b) x2+y2+z2—2x~6y=0

(c) x2+y2+22—6y-82=0

(d) x2+y2+22—2x—6y—8z=0

A point P lies on the line joining A(1, 2, 3) and
B(2, 10, 1). If z-coordinate of P is 7, what is the

sum of other two coordinates ?
(a) -15
b)) -13

@ -11

d -9

101.

102.

103.

104.

(33-A)

The sum of deviations of n numbers from
10 and 20 are p and q respectively. If
(p — @)% = 10000, then what is the value of n ?

(a) 10
(b) 20
(¢) 50
(d 100

If X = 20 is the mean of 10 observations
Xy, X9, .., Xjo; then what is the value of

i [3xi5—4] .

i=1

(a) O

(b) 12

(o) 112

(d) 1012

If the mean and the sum of squares of
10 observations are 40 and 16160 respectively,
then what is the standard deviation ?

(a) 16
(b) 6
() b
d 4

Three dice are thrown. What is the probability
of getting a sum which is a perfect square ?
| 7}
108
...
108
_E
108
23
108

(a)

(b)

(c)

(d)
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105. A, B, C 3R D W& 3gasi 3R Sy geand

106.

107.

DFTK-S-MTH

g 1 3k 2PA) = 3PB) = 4P(C) = 5P(D), A
77P(A) forass set R 2

(&) p2

(b) 15

) 20

@ 30

18 9% &I geed § ¥ Q) fim gl deand
Fgfes® &1 8 ff St & | T wifyewar &
39 IR H 3HIE T A 18 2

(a)
(b)
(c)

(d)

3 U Heh 1A & | 39 9GS @ WA @
6 37 W o1 areht wEmst %1 A 2 A 38 2

(a) 36

A
18

2
18

1
36

(b)

(c)

(d)

Downloaded from www.cclchapter.com

108. HEI3T 1, 2, 3, ..., 10 %1 wrew w1 @ fmehr

lw.

110.

(34-A)

FRERATS 689 2C,, 9C,, 2C,, ..., 9Cy & 2
(a) 11x28
b)) 12x7*
(¢0 b6

(d 055

s Ak & fopedt st @ dw 8 H sl
0-8% | 39 &Td ! =1 WRiwar & % 5 saferat o
¥ gt 2 =afth 38 fimrl & d 8 9 2

(a)
(b)

0-00512
0:02048
() 0-2048

(d) 00512

uH S TF ¢ 9 §U WA & FE hl GHIET
2, W fesme gl & o 7 & | few &
Angel BN A GwEE 10% & | AR e
Al } @ WO F gEd I wwE 95% 2,
YT Tg WHET 45% B | AR W g7 i R,
@ F wifekar ® f6 Y degel @l ¥ wwor
BIATR 2

@ 010
b) 019
© 045

(d) 095



105. A, B, C and D are mutually exclusive and
exhaustive events,
If 2P(A) = 3P(B) = 4P(C) = 5P(D),
then what is 77P(A) equal to ?
{a) 12
b)) 15
{e)--. 20
(d 30
106. Two distinct natural numbers from 1 to 9 are
picked at random. What is the probability that
their product has 1 in its unit place ?
1
(ﬂ) ﬁ
1
b FixH
(b) 75
1
(c) E
1
d Stod)
o 36
107. Two dice are thrown. What is the probability
that difference of numbers on them is 2 or 3 ?
7
a —_—
@ 36
7
b gl
®) 18
5
(c) Ig
11
d e
@ 36
DFTK-S-MTH

108.

109‘

110.

(35-A)

What is the mean of the numbers 1, 2, 3, ..., 10

with frequencies °C,, °C,, %0 °Cy,
respectively ?

(@) 11x28

b 12xT74

() 55

(d) 0-55

The probability that a person recovers from a
disease is 0-8. What is the probability that

exactly 2 persons out of 5 will recover from the

disease ?

(a) 000512
(b)  0-02048
(c) 0-2048
(d) 00512

Suppose that there is a chance for a newly
constructed building to collapse, whether the
design is faulty or not. The chance that the
design is faulty is 10%. The chance that the
building collapses is 95% if the design is
faulty, otherwise it is 45%. If it is seen that
the building has collapsed, then what is the
probability that it is due to faulty design ?

(a) 010
(b) 019
() 045
(d 095
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11 IR x 3R y ¥ 9 grEew e r R, @118, IR = FemA 0c,, 1°C;, 3k ¢,

- e i 270
(3x + 4) 3N (- 3y + 3) % == FgGEY oM F1 Wmﬂé,eﬁ_ﬁ_wmw%?
?

%- {(a) 1

14
.l 0 e
th)e" T 17

(c) 12

(¢ J3r P

31
d -438r

114. U &8 § n o & o o@ P 3 Q ot wfva
# | af € amgfeas wv @ fuifa H  E, @

=1 wifyerar & 7 p 3l Q U a1y 93 2
(a) &
n
(b) %
112. T 3AfEa s #1 6 91 IPTA I1a1 8 | 3 ;
() —
o $ =1 TR & 5 88 I w1 i -
-
St utE ISl § we qiomt & fim a2 2n
(a) % 115. U% fg9g @24 § B(n, p), n = 6 3R
1 9P(X = 4) = P(X = 2). pfrEs st 2 ?
M e I
1 FAh
() —
32 1
2
1
= g
64 3
(c) 1
4
@ <
DFTK-S-MTH (36 -A)
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111. If r is the coefficient of correlation between x 113. If H is the Harmonic Mean of three numbers

and y, then what is the correlation coefficient 10c, 100, Sk 10C, , then what is the value
i 330.,
between (3x + 4) and (- 3y + 3) ? 0 H
g |
(a -r (a)
14
b —
(b) o
r
17
(C]' E
¢ 3r A
)
(d) a1
d -+3r

114. In a class, there are n students including the
students P and Q. What is the probability that

P and Q sit together if seats are assigned

randomly ?
112. A fair coin is tossed 6 times. What is the W,
n
probability of getting a result in the 6P toss b
n
which is different from those obtained in the P
n
l’
first five tosses ? Wy
2n
7
a) —
( 16
115. In a Binomial distribution B(n, p), n = 6 and
1
s 9P(X = 4) = P(X = 2). What is p equal to ?
1
1 (a) =
(c — 4
) 32 1
§ (b) Y
d =
64 © 3
c —
4
4
d =
: 5
DFTK-S-MTH (37-A)
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sn#an#wﬁvfa(os)yﬁﬁﬁrqﬁwﬁf&ﬁwu&wm%:ﬁ;@g,ﬂaaﬁ@_mq
ﬁm?aﬁﬁrq: a%?
d wi=#i P, Q, R 3 &7 wisfRi S, T, U (@) %
wmfes w2t & fo dftag faman s 2
i g
3
(©) %
116. =1 Tifemar & 6 41 os% wh @1y 93 2
1
(a) i - 5
5
® 3 119, 7 it & 6 P i QT BN W &S 2
1
© % W =
1 i
(d) 1= (b) 15
14
(C} *ig
117.?113!1&%%%@3%@(63%&7@61@ (d) %
g3 ?
4 120. 1 Wit & fF Q 3t USHI wh |y 93 2
(&] -5' 4
(@ =
1 3
W 1
(b) =
5 4
() =
. 5
(c) =
1 6
=
3 1
@ 3
DFTK-S-MTH (38-A)
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Consider the following for the next five (05)|118. What is the probability that no two girls sit

items that follow : together ?
(a) 2
Three boys P, Q, R and three girls S, T, U are to be 5
arranged in a row for a group photograph. (b) 3
(5]
1
(c) E
116. What is the probability that all three boys sit 1
@ =
together ? 5
1 £
(a) 3 119. What is the probability that P and Q take the
1 two end positions ?
(b) = i
a) —
1 ( 15
0 =
3 7
by —
A 15
d ¥l 1
(d) 13 o b
g
11
S
(d) 5

117. What is the probability that boys and girls sit
120. What is the probability that Q and U sit

alternatively ?
together ?
4
(a) g 2
5 i)
(a) 3
1
(b)) — 1
10 b st
(b) 1
5
(c) - 5
6 £
(c) 5
1
@ = 1
il d i
; (d) 3
DFTK-S-MTH (39-A)
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SPACE FOR ROUGH WORK

DFTK-S-MTH (42-A)

Downloaded from www.cclchapter.com



we T & fore smE
SPACE FOR ROUGH WORK

DFTK-S-MTH (43-A)

Downloaded from www.cclchapter.com



DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : DFTK-S-MTH Test Booklet Series

TEST BOOKLET
MATHEMATICS

m
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300

2

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.
This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for which a wronci; answer

hasalieen given by the candidate, one-third of the marks assigned to that question will be de ucted as
penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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